This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Clydesdale South

5,260

3

1,316

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Ross GOWLAND	Scottish Labour Party	1,144
George GREENSHIELDS	Independent	635
Mark HORSHAM	Scottish National Party (SNP)	1,762
Ross LAMBIE	Scottish Conservative and Unionist	986
Janice MACKAY	UKIP	52
Colin MCGAVIGAN	Independent	298
Ann MCGUINNESS	Scottish Greens - Think Global Act Local	164
Imogen WALKER	Scottish Labour Party	219
	Total	5,260

Candidate Mark HORSHAM Elected with 1,762 votes, being in excess of the quota of 1,316

This report contains the transfers results.

Stage 2 - Surplus of Mark HORSHAM

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross GOWLAND	221	0.25312	55.93952
Transfer to George GREENSHIELDS	188	0.25312	47.58656
Transfer to Ross LAMBIE	30	0.25312	7.59360
Transfer to Janice MACKAY	22	0.25312	5.56864
Transfer to Colin MCGAVIGAN	124	0.25312	31.38688
Transfer to Ann MCGUINNESS	633	0.25312	160.22496
Transfer to Imogen WALKER	117	0.25312	29.61504
No further preference	427	0.25312	108.08224
Not transferred due to rounding			0.00256
	Total		446.00000

This report contains the transfers results.

Stage 3 - Exclusion of Janice MACKAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross GOWLAND	4	1.00000	4.00000
Transfer to George GREENSHIELDS	5	1.00000	5.00000
Transfer to Ross LAMBIE	13	1.00000	13.00000
Transfer to Colin MCGAVIGAN	11	1.00000	11.00000
Transfer to Ann MCGUINNESS	5	1.00000	5.00000
Transfer to Imogen WALKER	2	1.00000	2.00000
Transfer to Ross GOWLAND	2	0.25312	0.50624
Transfer to George GREENSHIELDS	2	0.25312	0.50624
Transfer to Colin MCGAVIGAN	3	0.25312	0.75936
Transfer to Ann MCGUINNESS	5	0.25312	1.26560
Transfer to Imogen WALKER	2	0.25312	0.50624
No further preference	12	1.00000	12.00000
No further preference	8	0.25312	2.02496
Not transferred due to rounding			0.00000
	Total		57.56864

This report contains the transfers results.

Stage 4 - Exclusion of Imogen WALKER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross GOWLAND	168	1.00000	168.00000
Transfer to George GREENSHIELDS	12	1.00000	12.00000
Transfer to Ross LAMBIE	13	1.00000	13.00000
Transfer to Colin MCGAVIGAN	2	1.00000	2.00000
Transfer to Ann MCGUINNESS	10	1.00000	10.00000
Transfer to Ross GOWLAND	72	0.25312	18.22464
Transfer to George GREENSHIELDS	6	0.25312	1.51872
Transfer to Ross LAMBIE	1	0.25312	0.25312
Transfer to Colin MCGAVIGAN	8	0.25312	2.02496
Transfer to Ann MCGUINNESS	15	0.25312	3.79680
No further preference	16	1.00000	16.00000
No further preference	17	0.25312	4.30304
Not transferred due to rounding			0.00000
	Total		251.12128

This report contains the transfers results.

Stage 5 - Surplus of Ross GOWLAND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George GREENSHIELDS	316	0.05369	16.96604
Transfer to Ross LAMBIE	222	0.05369	11.91918
Transfer to Colin MCGAVIGAN	126	0.05369	6.76494
Transfer to Ann MCGUINNESS	130	0.05369	6.97970
Transfer to George GREENSHIELDS	41	0.01359	0.55719
Transfer to Ross LAMBIE	10	0.01359	0.13590
Transfer to Colin MCGAVIGAN	12	0.01359	0.16308
Transfer to Ann MCGUINNESS	78	0.01359	1.06002
No further preference	522	0.05369	28.02618
No further preference	154	0.01359	2.09286
Not transferred due to rounding			0.00531
	Total		74.67040

This report contains the transfers results.

Stage 6 - Exclusion of Colin MCGAVIGAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George GREENSHIELDS	135	1.00000	135.00000
Transfer to Ross LAMBIE	61	1.00000	61.00000
Transfer to Ann MCGUINNESS	29	1.00000	29.00000
Transfer to George GREENSHIELDS	45	0.25312	11.39040
Transfer to Ross LAMBIE	3	0.25312	0.75936
Transfer to Ann MCGUINNESS	40	0.25312	10.12480
Transfer to George GREENSHIELDS	38	0.05369	2.04022
Transfer to Ross LAMBIE	12	0.05369	0.64428
Transfer to Ann MCGUINNESS	12	0.05369	0.64428
Transfer to George GREENSHIELDS	1	0.01359	0.01359
Transfer to Ann MCGUINNESS	1	0.01359	0.01359
No further preference	86	1.00000	86.00000
No further preference	47	0.25312	11.89664
No further preference	64	0.05369	3.43616
No further preference	10	0.01359	0.13590
Not transferred due to rounding			0.00000
	Total		352.09922

This report contains the transfers results.

Stage 7 - Exclusion of Ann MCGUINNESS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George GREENSHIELDS	58	1.00000	58.00000
Transfer to Ross LAMBIE	20	1.00000	20.00000
Transfer to George GREENSHIELDS	236	0.25312	59.73632
Transfer to Ross LAMBIE	19	0.25312	4.80928
Transfer to George GREENSHIELDS	34	0.05369	1.82546
Transfer to Ross LAMBIE	11	0.05369	0.59059
Transfer to George GREENSHIELDS	28	0.01359	0.38052
Transfer to Ross LAMBIE	4	0.01359	0.05436
No further preference	130	1.00000	130.00000
No further preference	438	0.25312	110.86656
No further preference	97	0.05369	5.20793
No further preference	47	0.01359	0.63873
Not transferred due to rounding			0.00000
	Total		392.10975

This report contains the transfers results.

Stage 8 - Exclusion of George GREENSHIELDS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross LAMBIE	273	1.00000	273.00000
Transfer to Ross LAMBIE	188	0.25312	47.58656
Transfer to Ross LAMBIE	116	0.05369	6.22804
Transfer to Ross LAMBIE	43	0.01359	0.58437
No further preference	572	1.00000	572.00000
No further preference	289	0.25312	73.15168
No further preference	272	0.05369	14.60368
No further preference	27	0.01359	0.36693
Not transferred due to rounding			0.00000
	Total		987.52126